= 20| 2tA|

6423y

=

- 2wy v

I:] otof Quke 1o

[= S T |

ag—l-a%
ad =24 0 -
1 -3
4, g3=-0
“ 2
o2},
1 1
5 a 2217171) 37
2 Uetofet
164 + 411
O
6. (84+49> °l
2},

=

o] Zhe Fstolat

—dy=—2r—4y—8 L,

T-5tofzt.

=2 9 AsAE

Yx[ ] +aayP = —da2y O [ ool &

(-
we 42 A Yolet,

a -
138, — = pa” L W, p+q °] = o

7.

S =2 urehfol

32009 4 72009 o 19 o 2 1} YW ]E FLotolat

Adsn S 72 Je YHAS f(n) o2 BT 1,
f(812 x 2518) © gh-& ool

A4Q% & 7 2 e JHAE f(n) o2t 3ol o,

f(8'2 x 25'8) o] Zr-& FLotofzt,

10. ooz 10 Aeo] 4 AxEeR vehyd o

Apele] 574 E y Aele] Stole. (F v < y) |
W, yo o Ao| Akele] 2448 Fotolet,

A% n ol dheked 2, 31, 47, 57 Z7ke] el Al

11.
2] & f(n) ol AOlst, g(n) = 1x2x---xn
ozt Ao, f(g(1) + f(9(2)) + f(g(3)) + -+ +
f(g(100)) ¢ gt= st

12. 35" o] 2] #z)o] S48 Fsfoiat,




